
 
 

Pedal tray set manual 
 

Complete pedal tray set instructie 
 

Kompletny zestaw podstawy na pedały 
instrukcja montażu 

 

 
  



1. 
Profile 40160 – 478mm (578mm, XXX) 

Profile 4080 – 478mm (578mm, XXX) 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. 
Pedal plates – 2x 

ISO7380 M8x20 – 12x 

 

 

 

 

  



3. 
ISO7380 M8x20 – 4x 

8-4-M8.40 – 4x 

Plastic spacer M8 – 4x 

Kunststof afstandhouder M8 – 4x 

Dystans M8 – 4x 

  



Optional – Parts not included 

Optie – Onderdelen niet inbegrepen 

Ta opcja NIE JEST dołączona do zestawu 
 

4. 
G29, G923, G920, T-LCM, T3PA-PRO, T500RS 

Bottom-mounting pedals 

Montage van onder 

Metoda montażu pedałów od spodu. 

 

4040L-ALU 

ISO7380 M8x16 

8-4-M8.20 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



ISO7380 M6x20 

DIN9021 M6 

 

Line up holes and connect with M6 bolts and M6 washers. 

Lijn de gaten uit en monteer met M6 bouten en M6 ringen. 

Dopasuj otwory i połącz za pomocą śrub M6 i podkładek M6. 

 



Optional – Parts not included 

Optie – Onderdelen niet inbegrepen 

Ta opcja NIE JEST dołączona do zestawu 

5. 
Clubsport V3, CSL Elite, Heusinkveld sprint, Tilton, Meca 

Top mounting pedals 

Montage van boven 

Metoda montażu pedałów od góry 

 

8-4-M8.40 

 

 

 

 

 

 

 

ISO7380 M8x16 

Line up holes and connect with M8 bolts. 

Lijn de gaten uit en monteer met M8 bouten. 

Dopasuj otwory i połącz za pomocą śrub M8. 

 

 

 

 

 

 

 

 


	1.
	2.
	3.
	Optional – Parts not included
	Optie – Onderdelen niet inbegrepen
	Ta opcja NIE JEST dołączona do zestawu
	4.
	Optional – Parts not included
	Optie – Onderdelen niet inbegrepen
	Ta opcja NIE JEST dołączona do zestawu
	5.

